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99.9 0.0 -0.6 99.9 0.5 -0.7 10H
99. 6 -0.4 -1.2 99. 5 -0.4 -1.0 11K
99.3 -0.2 -1.4 99.5 -0. 1 -1.1 124
99.9 0.6 -0.7 100. 1 0.6 -0.5 2021414
99.9 0.0 -0.3 99.9 -0. 1 -0.2 2 H
99.8 -0. 1 -0.4 100. 2 0.3 -0.1 3 H
99. 0 -0.9 -1.3 99. 3 -0.8 -0.8 4 A
99. 1 0.2 -0.7 99.7 0.4 -0.6 5H
99. 4 0.2 -0.3 99.7 0.0 -0.6 6 H
99. 6 0.2 -0.5 99.8 0.0 -0.2 7 H
100. 0 0.4 -0.5 99.9 0.1 -0.1 8 A
100. 1 0.1 0.1 100. 2 0.3 0.7 9 A
100. 0 -0.1 0.1 100. 2 0.0 0.3 10H
100. 1 0.1 0.5 100. 1 -0.1 0.6 11H
100. 2 0.1 0.9 100. 1 -0. 1 0.6 124
100. 7 0.5 0.8 100. 2 0.1 0.1 2022414
100. 9 0.2 1.0 100. 8 0.6 0.9 2 A
101. 3 0.4 1.5 101. 0 0.2 0.8 3 A
101. 8 0.5 2.8 101.3 0.3 2.0 4 A
101.9 0.2 2.8 101. 6 0.2 1.8 5H
102. 1 0.2 2.8 101. 3 -0.3 1.6 6 A
102.5 0.4 3.0 102. 0 0.7 2.2 7H
8 A

9 H

10H4

11H

12H




R6 MBI IR B /NG

- A A | Al

& H & 7 wog| P Hrt lﬁﬁufrt

7H 64 % %
5 D bk |EWNE, Bk, HJRRRK (BEHE, SRR OEEERR— Db o), 2AD (BkgAD), Tt eh) 148 2,085 2,085 0.0 -2.6
5 A bk |[EWNE, Rk, HRRRK (BEH, SR OBEERFE—DH0), A (BkgAD), b A YEERS 148 1,967 1,967 0.0] 4.1
£ v | EEh 1kg 542 516 5.0 28.7
oy S ST, N RT8g, [y T X—R)L ) 11 182 166 9.6 9.6
N E B [, MAD (kg AY), TATETZ IV — Frosft) 148 301 306] 1.6 6.0
5] (RO =2 | LTI Ty 7 —Fr VAT =—Y—EF) T H, S<XUT7ays 100g 511 538] -5.0] 22.8
N U 510 B (& H 2 BR<) 100g 356 358] -0.6] 14.1
A » THHD, L 100g 162 133 21.8] 149
EE " [EPE M, m—A 100g 760 694 9.5 155
&K " [EpE s, T (BKRZER) 100g 266 272 -2.2 5.6
= " TuA7—, bbA 100g 118 118 0.0 -13.2
EE . A7, JEEHTEYD, MAHRAY (1, 000mLAY) 1A 231 2311 0.0 6.5
3 — 7 Ak g&?ﬁi?i’i%ﬁ?gfﬁ? WA LAV 73— A LB8LT L — ), TEes 23—/ A bBBs3| | 1 63l 1ol oo
% 5 E/ré[ﬁég/iyéi%?ﬁfﬂ\m’ PAXIEA, (IRE) TMS52g~LL76gAI ), TMS52g~L70gAi ) X Loy 917 017l 00l 23
EIO N A ED kg 1,049 872| 20.3]  49.4
1 & HhE 1kg 712 749] -4.9 7.6
[URRE S /NANE 1kg 349 404 -13.6 2.9
72 £ R & |FReEhEEm 1kg 518 535 -3.2| 102.3
[N G =M F IR 2R 1kg 534 566] -5.71 8.9
=) & AR, I 1kg 396 396 0.0 8.2
mooB o [EEY 1kg 1,809 1,939] 6.7 1.5
U] 2 |TSUIUITONB], 1f8200~400g 1kg 831 886] -6.2| 16.9
N T |7V (m 2R L & R 1kg 355 315 12.7]  33.0
& A M [Fv/—TGer) il RUEAL (1, 000gAY) 14 406 395 2.8 425
Do |BERORI, RUEEAD (360gAD), [T RTEERNOT-IEHEDE) 14 362 351 3.1 5.2
rooo— % [wbZva—kr—F, 1 (70~120g) 114 369 369 0.0 1.9
T ARV — A NETTARZ) =L, Ty AD (110mLAY), [N—F 2 NR=F ) 11 292 292  0.0] -5.8
Eis & FOIR0F Y MG LR B Y, HONF Y, I 1 583 583 0.0 1.0
T L (7 Y ) [IZE0FLEEMEZERS), 8~10f@AD, I 137 754 718 5.0 10.6
7S A =S 100g 227 212 7.1 102
b b T |BA, BRL, I 100g 217 207 4.8 8.5
KB OBE RRERECEE, Sy MRMVAD (525mL~600mLAY) 1000mL 146 149 -2.0f -13.1
v — b ¥, 1A (350mLAY), 615D 137 172 1,135 3.3 -1.5
AL—FAZGE) | FFBIRVIEERS 1m 836 836] 0.0 0.0
BE O &) e, W, FEHIRIEERS 1AHT 950 950| 0.0 3.3
v =L (4 &) |EERICBTRE =, %A, FR(500mLAD) 1R 627 627 0.0 0.0
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- A oA | AT A
o RO INTEATAS
i} H & i) Bz 54 [d A Ltk
7H 6H % %
B ® % & |RE#RORE 1?;)1; 3,363 3,358 0.1 0.1
;T i HATH, G50 X580, JEHHTED 18L 2,191 2,257 -2.9 10.7
_ . | BE e MR TR LAY, w5 — N, BEEAL CEREFEE) IBE2. 2kW, BEFE2. 2 . ~ -

T AT T W, GEET A X — WA 5. T~5. 8, MBI AR TR S0T s e e
BEH-T T WHTT, B, (ERFHFMmI9, 000IFH~12, 000W[E], 307, 28R AD 13y 1,980 1,980 0.0 28.6
BE W B Al B ECTER, e bR - A RE R, IR, FEOERZH, 48V (1, 000~1, 160gAY) 1kg 422 342 23.4 23.8

—— — ” = YT — =
WA 2Ty s R TN— 7, [;%M]T~A, [H100% ) XIZHR95% LA E- RV L2 A8/ |, (HAXTW 1A 3019 3,249 0.0 0.0
64~70cm, Tk
AT Y F4l, #1100%, FVh, (FAXIM, il sh 1# 3,098 3,615 -14.3 118.9
SN 4 SNUTA, ()R, UR)ARE L, UEORGEIRVAT, (H1X)23~24cm, F#kdh 12 13,090 13,090 0.0 0.0
KU v 7 Al [HREEEESG, A (100mL X 104AAD), TUREZ D] 156 1,078 1,078 0.0 1.0
(L RVTTAF LR, FEEREL X, GERA, BHrEEL. 60, UVAYE, #Efa, THOYA
iR k) Za— A, [Bfa—A— =)L — % AUV I =aF(+3—AS], (ZL—21]) Bk 1= 46,750 46,750 0.0 0.0
A, BHiE7L — 4, iflkdh, INTEZE T
Hoov U v X2 T—HVI, AT RAREERL 1L 171 176 -2.8 6.9
#woo@ B |AMmEEEEE, BARZRUBEELS, 7 AT 7 VNS, /N B B 12°H 8,500 8,500 0.0 0.0
e ey BT, BEMIRYEATA100%, (FAR]S, MIUIL, ik, (7745 A, 17057 — B B

A e g A 14 4,117 5,489 25.0 34.2
B2 B WEMEZ(Ivh, ve—b 7, vxr T —, Byl B ERELTERR) 1[5 3,975 3,975 0.0 0.0

b Bt 7 U — & [ 7quhiih, BVABRAD (50gAD), (77T L—rUL RIAMTT 2)—h) 1 1819 1,819 0.0 0.0

SARRERF IR, AT AL, BAL PR TROIEAEZITV. ZLSNEI TR O AT,
XU AT 48 ~8A X4, 9A ~3HITEMEIL 7o mha R4,
MOb—Ahx 7oy | AFE 1A BEAREAGIE 720 fM3HE12 A FTIXUERKRFE ) M E2. 8kW, BE7E3. 6kW

GEET RV —WRDR)6. T~T. 2, 7402 — A BIEREREN & inbERERAEr X2 T 4,
S TPEE TR SFNAMET A FEARSEIUIE 7ok 4456 H £TIE690g~790g A& 4L,
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